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HHT 3397 :
FHEITIEd He¥T %1 agad GIaer] @ 916Q 3R 371 916 B :

(i) 3G ¥e-97 430 757 & | @4t 357 SfAard 3 |

(ii) Y97-97 qid @S] 7 fayifaq 8 - @ue &, @, T, 909 & |

(iii) @UE & - F7 G&IT 1 & 12 T%F Fglascdid bR & o7 & | I T97 1 37% &7
g1/

(iv) @8 & - J97 &7 13 @ 18 T TY-FTHIT JHR & 7 & | T4% 97 2 371 &l
& | 9% J97 HT IR 50 & 60 Fisgl 7 [o7f@w |

(v)  TUET— J97 &I 19 G 23 T JH-3T JHRI 3 F97 & | Ie9% Jo7 4 371 #7
g | I J97 7 3T 100 T 120 vs5] 7 foifaw |

(vi) TS G- Fo7 G&IT 24 & 26 ARV, FIg7 TIT FHA-STENRT To7 & | IA% T
H7 I JAFAR 1777 |

(vii) TUE &F- J97 G&IT 27 @ 30 T JH-3717 FHIEIl & 97 8 | Fe9% 97 6 b1 &7
g | ¥ed% J97 %7 3t 170 T 180 s3] 8 o7/ |

(viii) Fo7-97 ¥ B3 GO [T 787 8 | TeT o Fo7 4 ks Ay &1 Jaemr 1597
T 8 | 57 J99 § @ e ek 57 Y97 & I fo7@Tr 5w |

(ix) 3% 3fakes, &M G 1 gheanea e & forg wiat aour amAf=a 37fs meia
Yol @ €I R T 37 97 1397 71 8 | 39 Fo7] & I HacT Greanea wianai &
ford |

T UE &®
¥ G 1 & 12 7% Sglaswedid YR & 1 3% & 397 & | 12x1=12

1.

freafafad & @ foha o1 3 309 6 srdeawen wi gASfifad & & fow a8 9
W 3Tk TEg YgH Y ?

(A)  STUH
B) fseA

(C) HIYH T I
(D) =H
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General Instructions :

Read the following instructions very carefully and follow them :

(i)
(i1)
(iit)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.

Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E — questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.

12x1=12

Which country among the following extended massive economic help for

reviving Europe’s economy ?

(A) Japan
(B)  Britain
(C) USA
(D) China
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2. Tfafed 4 9 SH-91 AEed IT-qd & AN g 319 & STTehiensti
Ih A o o 787 foram o 2
(A) «TEh A % e 3o
(B)  3f¥re TR & faw snigiem
(C) AR o TSAT 1 F9 I b [T¢ ATGIe
(D) 31 o T 3reiem

3. Tmafafgd & @ @H-t "1 1975 § AU hi SN & Hfd g7 7 ?
(A) Gyl shifa’ 1 AR
(B) ot TG
(C) 1974 i T geaTA
(D) SARER IF FRTAT &1 ol

4. YA % fFa &3 & G 98 HE JAar R ?
(A) IT-YF & (B) cferur-ufgaw &=
(C) IR-ufvem &= (D) gfeur-yd &=
o7 &A1 5 % 1079, G FYT 3¢ T — A T Bl SYEIT (A) T TR F

FRU (R) GRT 37 131 77 8 | 37 F971 &l &7 & 96T 37k 719 5T 10 faaweq
(A), (B), (C) 31T (D) ¥ & 3R & &7 7 & [asey iy |

5. 3BT (A): YRA H YYH AW Y@ HI ¢ IR TG HEAT 91 W 7@ H
3T 1951 ¥ HE 1952 Tk IHTE ST fohT T |

FRU(R): 19 I8 b o 9vd Tgi o1 foF e aifven & weta
AT AT T81 81 Hehd & |

ICET I

(A)  ARYT (A) 3R FROT (R) T T&l & 3 SR (R), MHA (A) HI
g AT HdT 2 |

(B)  AfYeheH (A) 3R RN (R) HI T&l &, Tg RN (R), AMTHH (A) Hi
e AT FgT T 8 |

(C) AR (A) Tl 7, T=g %R (R) T4 & |
(D)  3TfheA (A) Tad ], g HHU (R) T& B |
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2. Which one of the following movements was not started by the people of
North-East to express their regional aspirations ?
(A) Movement against outsiders
(B) Movement for greater autonomy
(C) Movement to form a union of North-East States

(D) Movement for secession

3. Which one among the following events is not related to the proclamation
of emergency in 1975 ?

(A)  The call for “Total Revolution’

(B) The Naxalite Movement

(C)  The Railway Strike in 1974

(D)  The Allahabad High Court verdict

4. Which region of India is referred to as the ‘Seven Sisters’ ?
(A) North-East region (B)  South-West region
(C) North-West region (D)  South-East region

For Question number 5, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

5. Assertion (A) : The first general elections in India had to be postponed
twice and were finally held from October 1951 to
February 1952.

Reason (R): It was no longer possible to argue that democratic
elections could not be held in conditions of poverty or lack
of education.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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6. T IH g I 9wl e il

Gl gl
1 g @) W
2. fomiw onfde &= (i) onfEEm
3. TYTh Usg YAl YRg h TS HeH < Gii) 2R
4. T T (v) ==
Tl faehed g -
(A 1(ii), 2-(iv), 3-(1), 4-(ii) (B)  1-(ii), 2-(i), 3(ii), 4-(iv)
(©) 1), 2-(0), 3-(iv), 4-(iii) (D) 1), 2-(ii), 3-Gii), 4-()

7. TfaRad geet sl HIThHATIHR Safedd il
(1) o s 6 T
(i) fova =ATOR @S i TR
(iii) TIH T T I T
(iv) 3aUgH A1fuees ol Tol=el shi TTaT
Tgl fashed 9T
A) (@), (ii), Gv), (i1)
B) @b, (1), (ii), (iv)
(C)  (Gid), (i), (), (Qv)
(D) (i), (1), (Qv), (ii)

8.  iciehl ® AT TUY o 91 H [Hfifgd ¥ @ S9-91 4 77T 3 ?
(A)  sficisrr ® TeHifa et 6 gea § off |
(B) dfuedt o f&ai ht 3uem il 73 |
(©) Taee =i arh <uI o1 TwH Ww o |
(D) sficieRt <t ATt TmEn | fagef o after e o |
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6. Match List I correctly with List II :

List I List 11
European Currency 1) France
2. Special Economic Zone (i1)) ASEAN
3. A permanent member country of UN Security (iii) Euro
Council
4, A Regional Organisation (iv) China

Choose the correct option :

(A)  1-Gid), 2-Gv), 3-(1), 4-(i1) (B)  1-(iid), 2-(1), 3-(i1), 4-(iv)
(©)  1-Gb), 2-G), 3~(iv), 4-(iii) (D) 1-Gv), 2-(i), 3-(iii), 4-(1)
7. Arrange the following events in chronological order :

(1) Establishment of the World Bank
(i1) Establishment of the WTO
(ii1) Establishment of the UNO
(iv)  Establishment of the IAEA
Choose the correct option :
A @), (i), Gv), (i1)
B) (i), (), (iii), (iv)
(C) (i), (i), (), (iv)
(D) (i), (), (Qv), (ii)
8. Which one of the following statements about the ethnic conflict in

Sri Lanka is false ?

(A)  Politics in Sri Lanka favoured the Sinhalese.
(B) Interests of Tamils were neglected.

(C) LTTE was supported by the SAARC countries.

(D) The Sri Lanka ethnic problem involved the Sinhalese and the
Tamils.
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10.

TIAT YA o 9UH hea g HiaHed | e 95t s o7 2

(A)  HIH 3L
(B) . AU

(C) HIAHT A HAW TG
(D) WM 3fsgd THFRR WiH

1974 ¥ fora 31 TSAT o D1 4 F@d! W hiAdl o Rget® 3Teiaq foram o 2
(A) IR I AR fogw

(B)  TrEYM 3R fogr

(C) ToER 3R TeRa

(D) foER iR #ex wem

Yo qeq] 11 % 1078, 1 %o 15 T & — 979 U &l SAbeT (A) a97 o Pl
HRY (R) ZRT 3 197 797 8 | 37 H91 &1 eI/7 & 9iau 37K 7= 7y 77 fasheqr
(A), (B), (C) 37 (D) & @ I & &7 § &1 fasheq Ji4T |

11.

12.

S7fYHYT (A) : TS H 1 i Weg ¥ AR T qU1 R0l ST W@ 3R 91 |
Arehds o foear =l Tfdefea = feam |

FRU(R): TS 2001 H Th HASEq Alhad-aueeh STGIeH o HRU Teh U
ATehdTeh TIAE shl A1 ol TR T o |

ICETR I

(A)  3AfReE (A) 3R FHW (R) AT T & 3 HRU (R), 1fhed (A)
e AT Hidl B |

(B) 31f¥%eed (A) 3R SR (R) a1 88! §, T SR (R), 3HPAA (A) HI
T AT TFT T 3 |

(C) AMRYH (A) TE &, Tq SRV (R) Ted 3 |

(D) 3IfHheH (A) TAd 8, T R (R) Ha&l & |

fraffad ° @ S-81 9% TP 61 Th 37 7 2
(A) IR (UNESCO)

(B) fova s
(C)  #HgEHl
(D) THAE geHIE
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9. Who was the Education Minister in the first Union Cabinet of free India ?
(A)  Karpoori Thakur
(B) K. Kamaraj
(C) Maulana Abul Kalam Azad
(D) Khan Abdul Ghaffar Khan

10. Students of which two states started an agitation against the rising food
prices in 1974 ?

(A) Uttar Pradesh and Bihar
(B) Rajasthan and Bihar

(C)  Bihar and Gujarat

(D) Bihar and Madhya Pradesh

For Question number 11, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

11. Assertion (A) : The king, with the help of the army, retained full control
over the government and restricted the expansion of
democracy in Nepal.

Reason (R): The king accepted the demand for a new democratic
constitution in 2001, in the wake of a strong
pro-democracy movement.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

12. Which one of the following is an organ of the United Nations ?
(A) UNESCO
(B) World Bank
(C)  General Assembly

(D) Amnesty International
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

Qs @

g 3R =9 & uex gl o aavel &1 favavor $ifse, e o 1962 d
=1 |99 g T o |

2fqor ifE U 3= AWd fam™ & Tt ITier forgl @ el & Scoid

HIT |
TS TATAehTe NS i o hig g yuTd ferfay |
JTHTE o §1E WRA A 310 Toehd o fOIQ i-81 died A1 3R AT 2

“T9 @7 ARG W a1 ASHIA Sl GHST % ®9 W al, UG GHESAT *
TN 1 39 gHd 9 |7 e &l =ameat iy |

AATCY o Flag™ i fohdl a fariarsti sl IR I |

Qug T

() “and A fofim smuml W wgw UY % gl w1 @meld f g 1”7 e
=l gfE ST |

arera
(@) “9g® UY W GIR AW 1 3 GL&a INug 1 THied BT 7 |7 e Hl

TETd 38USy |

gTfehea™ H HIN[G fohral q TAeha-GHeieh I 1 Ioch@ hilvd, ST J&f Th
AThdT(Ieh STeE] TATMUT Hi T AN T HL Fehd & |

‘Trieh 9 o fohegl =R qioTTET 1 FuiE <RI |

“Sefar SATRIRITE qT ITehT THTHISH WA AlehdT=ieh TSI ol Tsh N 37T
2 1”7 forgl <t IUYh Tl | e i Y iR |
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.
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SECTION B

Analyse any two differences between India and China which led to a
military conflict in 1962.

Mention any two factors responsible for high human development in
South Korea.

State any two effects of imposing national emergency.

Which model did India choose for its development after independence and

why ?

“The leaders of the newly independent India did not see politics as a
problem, however, they saw it as a way of solving the problems.” Explain
the statement.

Highlight any two features of the Constitution of Bangladesh.

SECTION C

(a)  “India has supported the restructuring of the United Nations on

several grounds.” Support the statement.

OR

(b)  “Reforming the United Nations means restructuring of the
Security Council.” Justify the statement.

State any two pro-democracy factors present in Pakistan which can pave

the way for establishing a democratic set-up over there.
Describe any four consequences of ‘Shock Therapy’.

“Regional aspirations and their accommodation are an integral part of
Indian democratic politics.” Support the statement with any two suitable

arguments.



23. (%) ¥RA H T3EEH R fhH TR wlehad % U G wifed g8 & ?

wy Hifvy | 4
SrET

(@) 2014 % FAET H F9AT g § e R TEhR & 9T | &1 off 2 fomedi <

HIUN hl TIY HIFFT | 4
LCLER]

24, dfdq < IR @ getag = e mu fom w1 tewma Fifve qon Fefafea o=

% I T 1+1+2=4
=y

(i)  «fcla A o fora ama 1 gdies off ?
i)  wfce 6 Sar i @ ol o ot =+ g8 off 2
(iii) @i 1 AR o ¢ o fohral G IROTHT I IR HIWT |
I : [HEACTRET 97 Sacl GIRATIaT qhemaal & 1o/g 397 &7 24 & T W3 -

4x1=4
(24.1) fgdia foa gg form Iy &t gamm o1 ?
(24.2) wfi o A fopg a9 w18 718 off ?
(24.3) ®iforard | 1 forerest fope o g3t o 2
(24.4) 1985 H Hifowd &9 1 HEYHE Il 1 HEMEId S Tt dl i A4
fetfae |

13-59/3/3 12




23. (a) How did the coalition governments prove to be a boon for

democracy in India ? Explain. 4
OR
(b) In the 2014 elections, why were people in favour of a stable
government at the Centre ? Explain any two reasons. 4
SECTION D

24, Study the picture given below related to the Berlin Wall and answer the
questions that follow : 1+1+2=4

) What did the Berlin Wall symbolise ?
(ii))  Between which two countries was the Berlin Wall built ?
(iii) Highlight any two outcomes of breaking of the Berlin Wall.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. 4dx1=4

(24.1) In which year did the Second World War end ?

(24.2) In which year was the Berlin Wall built ?

(24.3) In which year did the Soviet Union disintegrate ?

(24.4) Name the leader who became the General Secretary of the
Communist Party of the Soviet Union in 1985.
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25. frAfefaa saa =1 s ufer o A= fou T sl % s AT . axi=4
1980 % & H Gfetd Sl s TS el 1 ol 3g7 g7 | 1978 H
‘“HE% (BAMCEF) 1 T&d 8311 | I8 WA WHH FHAANE 1 hig
YR ¢8 (A T&1 A1 | 30 TS 4 g A1 IqEEa S, A=A
ST, 3T TUSST Ol 3 TcqEThl hl TsHIfder Tl i SeieEkd dher]
&Y | 3 1 Wad] foeE efad-snivd oo gey wfufa’ 3, g o9 & 999
H g IS el (SHAT) 1 35T A |
(i)  SHES H EE g ®9 A

(A)  9gSH 3R Fcueedsh TS HHAN 99

(B) 9gSH 3R Fcqaedesh THGH HHAN T
(C) Traer 3R fcusers TUg™ HHar 99
(D) TUSST 3N FeuaETH TG HHAR TEIH

(i)  SgSH GHTS U1l I e fohE a9 H g3 AT ?
A) 1981 (B) 1984
(C) 1989 (D) 1991

(i)  SESH GHTS YTl hl TEATTh T i AT ?
(A) IR, IFEEEH

(B) HETEd
(C) Hamm fag
(D) HIRWE

(iv) =gsH TS ardl (sEn) A fope Tsa § 1ot veell wwehr fea i off 2

(A) 9=
(B)  wfamom
(C) IHIW
(D) USEH
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25. Read the following passage carefully and answer the questions that
follow : 4x1=4

The 1980s also saw the rise of political organisations of the Dalits. In
1978 the ‘BAMCEF’ was formed. This organisation was not an ordinary
trade union of government employees. It took a strong position in favour
of political power to the ‘bahujan’ — the SC, ST, OBC and minorities. It
was out of this that the subsequent Dalit Shoshit Samaj Sangharsh
Samiti and later the Bahujan Samaj Party (BSP) emerged.

(1) Choose the correct full form of BAMCEF :
(A) Bahujan and Minority Communities Employees Federation
(B)  Bahujan and Minority Communities Employees Foundation
(C)  Backward and Minority Communities Employees Federation

(D) Backward and Minority Communities Employees Foundation

(ii)  In which year was the Bahujan Samaj Party formed ?
(A) 1981 (B) 1984
(C) 1989 (D) 1991

(iii) Who was the founder leader of Bahujan Samaj Party ?
(A) B.R. Ambedkar
(B) Mayawati
(C)  Mulayam Singh
(D) Kanshi Ram

(iv) In which State did the Bahujan Samaj Party (BSP) form its first
government ?

(A)  Punjab

(B) Haryana

(C)  Uttar Pradesh
(D) Rajasthan
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26. WRA % U T TSHIfde W@I-AHRA (58 17 V) § 91 TA 61 @), @), ©
aar D) & g 3Afeha fopam T 2 | e & TE IHHRI % SMYR W 3T TSAT hl
UEIH HINU R AT IT-gfeaent § g Tt AW, JAT I TS TSR H
HH-GEAT qAT gHred § fear wn gefya 1R, = & 8 arfeer & &9 H
ferfia -

TN <kl TS I
) HE-TE

et o fean
TRIT HE1ed 378

U <l HH

(i)

(i)

(iii)

(iv)

(1)

(ii)

(iii)

(iv)

13-59/3/3

g TSI @1 HUE U1 Il 1967 o IATEl H SgHd FNY Ta1 gl o |

4x1=4

I8 USA S&l HUE I 4 1967 % Gl H SgHA GG T8l fhan o,

g I TAl o THAT H TR &A1 ot off |

FHISETE] A1 TH T8 Alfedl 8 qafed U7 |

9 @ qd agafa .. it & qefia o= |

16



I 9. 26 o U

WA T {@I-qrfers (Tifaes)
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26. In the given political outline map of India (on page 19), four States
have been marked as @), B), © and D). Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format : 4x1=4
Serial number of Concerned
. . . . Name of the
the information alphabet given in
State
used the map

(1)

(ii)

(iii)

(iv)

1) The State where the Congress party did not secure majority in
1967 elections.

(ii) The State where Congress party did not secure majority in
1967 elections but formed the government with the support of

other parties.

(iii) The State related to Samajwadi leader, Ram Manohar Lohia.

(iv) The State related to the former President of India, V.V. Giri.
13-59/3/3 18



For question no. 26

Outline Map of India (Political)

13-59/3/3
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g : HECIREGa 97 #ac R el & 77 307 &1 26 & & T/
g: 4x1=4

(26.1) TS SEIGL ATEA A |1 Yfeg w0 fezm o 2

(26.2) WA TSHITA & ThE 21 1 WA 21 hal ATdT 8 2

(26.3) 1969 % TFHfd IATd | Ff~qu Mieht 4 fohe IoHigar w1 wHeH ok o 2
(26.4) ‘AT M, T TW U § FHIT4d TT HIH-91 § ?

Qs g

27. (%) d@ IR UM Ifvae T * fofe AEqul HEtem W& AW S g ?
3CTEUT Aigd Tase hify | 6

HAAAT

(@) TP TE W AT TEIANT T KT HigT Tl 8 2 s I BRI

T HIY | 6
28. (%) 1947 T TTAAAT % THY WRA o HHY ITF fohral oI &I FAIGT o1
Ui I | 6
HAAAT
(@) 1947 ® fofew sfean & fourem & ufsen & o fordl i @
HiSATgAl 1 Fui HfT | 6
29. (%) Tgfia foava Ig o uvanq wfSmn ot STkl o 79 Tda <l o T 3118
ToRegl ofiF gRa At i smean i | 6
HAAT
(@) W Gee WHiTd & fohegl diF Teehl shl SITRAT HIFT | 6
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) Which popular slogan was given by Lal Bahadur Shastri ?

(26.2) Which period of Indian politics has been referred to as the
‘dangerous decade’ ?

(26.3) Which candidate was supported by Indira Gandhi for the post of
President in 1969 ?

(26.4) Which State is related to the phrase ‘Aya Ram, Gaya Ram’ ?

SECTION E

27. (a) Why are oil and water considered to be crucial resources to global

politics ? Explain with examples. 6

OR

(b)  Why is it difficult to establish international cooperation over the

global commons ? Explain any three reasons. 6

28. (a) Describe any three major challenges faced by India at the time of
independence in 1947. 6

OR

(b)  Describe any three major difficulties that came in the way of the
partition of British India in 1947. 6

29. (a) Explain any three security challenges faced by the newly
independent countries of Asia and Africa after the Second World
War. 6
OR

(b)  Explain any three components of the Indian security strategy. 6
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30. (%) Ig 9 dh <o WRA gRT SAUETE T8 Tefueran it fifa’ o =t
Salley |

AT

(@) “caaa vra $i fagn Aifa 3 e wifaget fava & 9o w1 @R FE &=
g foharm B 17 1 STRE okl o EY e i g i |
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30. (a) Justify the policy of Non-Alignment adopted by India, by giving

any three arguments.

OR

(b)  “Foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with three suitable

arguments.
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